1.([® pts) Evaluate the integrals.
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2. (15 pts) 3
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(c) A particular function y = f(r) satisfies the following: / f(w)dw =12 and / fl(u
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3. (13 pts)

3
L_& (a) Use the right-endpoint method with n = 4 subdivision to approximate / In(2t + 1) dt.
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(Leave your answer expanded out with all the correct numbers in the correct places).
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3 (b) Using the right-endpoint method with n. subdivisions, write out the general pattern in terms
of < and n for the Riemann sum for In(2t + 1)dt. (ie. fill in the pattern in the space
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coincidentally hits the ground right next your math instructor. Your math Instructor esti-
mates the balloon hit the ground at a (downward) speed of 80 ft/sec. At what height is the
window from which the balloon was thrown? (Assume acceleration is a constant 32 ft /sec?
downward). : —

/ (c) A water balloon is thrown downward from a dorm window. After 2 seconds, the balloon
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. (18 pts) For all parts, consider the region R bounded by y = v/, y = —/z and 7 = 3y + 10.

(a) Set up an integral for the area of the region R. (Just set up, DO NOT EVALUATE)
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% (b) Set up an integral that represents the volume of the solid obtained by rotating the region R
about the y-axis. (DO NOT EVALUATE)
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(¢) Set up an integral that represents the volume of the solid obtained bV rotating the region R
E’ about the vertlcal hn( z = 25. (D() NOT EVALUATE)
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. (12 pts) The two parts below are not related.
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(a) The distance traveled by a bike on a certain track is F(z) = / 3 cos(d) dt where z is
1 0 =08

in seconds and F'(z) is in feet. Find the speed of the bike at t = 7 seconds (include units).
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(b) Consider the region under the curve y = —, above the z-axis, and between x =1 and x = 9.
k ®
Find the number b such that the horizontal line y = b bisects this region.
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